L 07 MIEEMEXE=AE

¥ ShERE =

5% - SRR AR
LR S HU 2 2 RO A BT S B AR )

YA (5% 55 32 52 1) 3 s R A 2% DR P R () = A 0 XA = AT U R ON B R — AP . T
KIE=HMHEH, R EBTER AN e 7oA R LT ) B AR 40T 4518




s SRTERE =M e H.
W, REE A X =2py(p >0), &ML y = —g E— R P(x,, y,) RIS Pk

PILk, YIEABICA A, B, FAKEN (x,, ), (X, y,) . WLk P RIBIVIE A, B ERII= T PABh, 4
B 3 WA

G5 1. B4R AB STIMBIIEE R F .

%QZE%ABmﬁEﬁ%ximyg = p(y,+ ).

UER]: 2 R ] 1. AT AR R S R A AR B,

XX
2 2 —
iﬂiﬁﬁ’ lﬁA’B (‘xl’x_l)a(xbx_z) ’ J”\UkAB = 2p zp = XI+x2 .
2p 2p XX 2p
2
+
) AB:y—x_1:x1 xz.(x_xl):>AB:2py:(xl+x2)x_x1x2’ =R
2p 2p

BT AB id £ 55 (0, —) RNTTG x,x, = —p° . WAV E] T IWLE £ 5%
P 3 s AR AR Z TR R BE AR 5% AR
i 3. & F MELRSMNERZT A, BH A, U4, BailAT RAEw%

YL, MIXFHEVLRIIZE R P(x,y, y,) WL A IhPLR I LK.
WEB: it A SRR xx = p(y, + ), B AL EN x,x=p(y, +y), BRMETE:

x - X,y — X XX s .
L _rTA :>y:—2y1 ‘y2:>y:—' 2oL ssewirm 7 ingsie

X, Yty X=X 2p 2
4 4. PF 1 AB.
P P
Yo =& Yo— 7y 1
WEW: BB 3, k=0, kpyp=—2 Whky k=0 — 2 =0~
p 0 p Xo p 2
%4 5. AP L PB.
T Ky = kg =2, Wk kg =22 = T2 i e S R PR T R x,x, = —p . AR
p pp P
N LRIk - kyp =22 =—1, # AP L PB.
p

&
N
b=l
=
[e)]
p=i



45 6. H& AB TP RO M, W PM “PAT TIMER X AR,
WER: MR 3 MIEM AT, SR ABMUVIKRNL R PEMMDLHEL L. H PRI HN

IR PM AT T L B X Bk

X, +Xx, XIXZ)
s )

3

mm 271 - BB,

Bl 1. B%ﬂcmﬁﬁﬂaﬁ:%y, MELy=x-1 EMsh Q1 CMPI I L. L, VIl 4B, EH:
B4k AB fHd e R

[5#] & C: xzzéy, PPy =2x*, Wy =4x,

% A(x,2x7 ), B(x,,x3),Q(8,2 1),

T hadn % QA 4955 Ax, | BT & 04 y-2x7 =4x (x—x,),

W r—=1-2x7 =4x (t—x), #3273 2x) —4tx, +t-1=0,

Bl 72 4 % OB 5T 43 : 2x] —4tx, +¢t-1=0,

; t—1
W[ Ga: X,X% A HAE2x —dtx+t—1=0 0 HAL, N'Jx1+x2=2t,x1x2=7,
s’ N . - 2x12_2x§
—‘;]-'f;j’:é_éiAB éﬁ§+$kAB:7:2(xl+x2):4t,
1~ "2
N 2 2 2 2
W% AB %% 5 A N(x0,9,), xoz%:t,yoz X er X :(x1+x2)2—2x1x2 4P i1,

BN (6,46 —1+1),

PB4 AB : y— (40 —t+1)=4t(x~1), %@gfﬁ%y—l:m(x_%),

1
FT VAR % AB ‘Téiii/ﬁl’(z,lj.
21
w27
B L A
y=x-1
X
0
A




2
X

2
(1) IF8: BHZ AB &S,

Bl 2. T C:y =, D%Eéﬂ%y=—%£ﬁ’ﬂ£]3,ﬁ, WD C RS, PSR N A, B.

2 %LJE(O,%)?\?ADE‘]'%E&AB*H@J, HYNRNERBAB i s, SRAZIE T2

CARRLI T&D(t,—%), AG s y)s Wx2=2y,,

1
hts

Ty =x, o DA L=,
X, —

IS 26 -2y, +1=0.

WB(x,, y,), ARG 20, -2y, +1=0.
W2 AB (171N 200 =2y +1=0 .
Ptk AB R (o,%) :

(2) fifts 1 (1) FEL% AB E‘Jﬁ%ﬁ'zy:tx+%.

y=m+%
H , s RN -2 —-1=0.
X
7

?%xl+x2=2t,y1+y2=t(x1+x2)+1:212+1'
Y M OALE AB 0, W M, %) ,

wau u wu wu . N
¥ EM L AB , 10 EM = (6" =2) , 4B 511 (1,e) 47,
L+ =t=0, R r=08r=141.
w uLu g o 5,
=0, |EM =2, FEREMITIA L +(y=2) =4

N2 uL RSVE s N R 2 52
Y=+, |EM =2, FREITTEN x +Hy-2y=2.



1. (EFIHEMAAFR R xOy 1, M NHEZL y=x-3 L3I, 8 MAERWL C:x* =2y MM &1L MA ,

MB, VISHNA, B, NNABHIHA.
(1) WEM: MN L x Hh;
(2) Btk AB REMHEILE A2 #2, RHIXA RSN B, HUHIIHEH.
2 2
CAEHTY f: (1) AEW: BEHAN A, %), B(x, , %),
¥ =2y auy:%xze@@iwy':x,
2

FTLLYIZE MA BV %, DIERI TN y—%le(x—xl) :

X2
WM(t,t-3), )rlﬂﬁt—3—j=xl(t—xl),
e 15 X7 — 26, +2t—6=0,
[ EE A4S x; —28x, +2t—6=0,

FITbhx, s x, /7 F x? =200+ 20— 6 =0 [F A,

JIrbhx, +x,=2t, xx,=2t—6,

FTPL MN L x %l

N 1
2 WAy, :%(xl2 +x22):%(x1 +x,)° — 5% =t —t+3,

FTLL N, —t+3),



PA_E B PUORNA ST R T EER 5, AR —FANE. METE
B PAEA S, Bk https://d. book118. com/948057030011006065



https://d.book118.com/948057030011006065

